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1.6x10"° x(12-0
1. h= 9 AVO = x X( = )= 6.4x107%J.s
Af (4.5—1.5)><10
2. ¢$=6eV=9.6x10"J
¢=hf, =6.4x10"" x1.5x10" = 9.6x107*°]
3. f,=15x10"Hz
: (4)

1. hf =g+K,,

8
6.626x10™ x :fxllg-7 = p+2x1.6x107"
X
$=3.43x107")
2. V,=2V
¢  3.43x107°

3. f,= = 5.17x10"Hz

h 6.626x10°%
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1. n=4 A3) e
-34
L= =_= a = 4.22x10%J.s
271 27r34
p_L _ 422x10 = 0.52x10** kg.m/s
I'n 8.464x10-10

2. 1,=n%r =(4)"x0.529x107"° =8.464x10°m = 8.464A°

3. nNA=2ar,—>A=2mnt, =2nx4x0.529x10"° = 1.33x10°m

A n? n? 4%

4. 1 = R(i—ij =1.1x10’ (%—ij——)ﬂu =9.696x10"°m

h 6.626 x1073* x3x108 N
s el IS TE
Olad ALl
: (6) (s

1. nNA=2xr,——>A=2nnt, =21x2x0.529x107"° = 6.64x10"°m

2 izR[A-iz]:uxm?[i_i)_mzl.mxloqm

A n’> n: 1> 27
APAx> N
27
APA> _  Ap> N
27 2ntA
-34
p>_0626x107 _ rao 0% N

 2mx1.212x1077
: (7) (o
1. nNAi=2xr,——>A=2n1=21x0.529x107"° = 3.32x10m

2. 1. R(i—in =1.1x10’ (i—ij—m =1.022x10"m

A n> n 1?3

hf =¢+Kmax ;h%:¢+qevo

3x10°®
1.022x10”"
¢ =1.75x10""J

-34 8
Ay = hc _6.626x10 Xf;XlO — 1.134x107m
& 1.75x10

6.626x10* x = $p+1.2x1.6x107%
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1 235 236 1* 139 95 1
N+ oU—— U —— " .Cs+ 2Rb+2;n+energy

1 1 0 =
oN——>1P+ 484V,
7 Al+ tHe—— 2P+ {n
YF 4+ IP—— fHe+ 50

A A 00, —
. X >z+1Y+ie+£

:(6) (w
1 pn=_t _2412
t,, 804
n 3
N = 1 Noz(l x 48 %10
2 2
N = 6x10% 3,3
5 =t _3216_,
t, 804
1 4
N :(Ej x 48x10"° =3x10" 3.,
_ 19 19 19 3,
N, =48x10 3x10” =45x%10 BS
: (7) (o
E = E.i, _Am c?
" A A
Eyn = E, xA={(Zxm, +Nxm, )-M,|c*
MeV
8.552 40 = {(20%1.007276 + 20x1.008665) - M, | x 9315~
u
855290 _ ((20x1.007276 + 20x1.008665) - M, }
931.5

M, = 39.95158u
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r, =a, YA =1.2x10"° x4 =1.904x10"°m
r, =a, YA =1.2x107° x40 = 4.1039x10°m

Ny _ 1.904x107° _ 0.464
r.,, 4.1039x10™%
v gﬂ:(l.904><10_15)3

- ~=0.099=0.1
Voo 27 (4.1039%107)
3

: (9) (s
Q= (Mp -M;-m, )02 = (209.98286 —205.97446 - 4.00151)02

Q=0.00689x931.5=6.418 MeV
Al Caaay g d8Uall oyl Jelal) <) dimse (Q)

K, = Q[ M, }: 6.418{ 205.97446 j: 6.295MeV
M, +m, 205.97446 +4.00151
K,=Q-K, =6.418-6.295=0.122 MeV
: (10) (
(<) Dbl Y1« (1) Dl < L1
(7MeV) .2
((20) LSV o3 () waiall .3

A
Eyn =E, A=8.6x40=2344 MeV
Eyp =344x10°x1.6x10° =5.504x10"]
(@) zleadI LG SV () Hlbadl 4Ll <Y L5
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T
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l=z=c e T

a

| =5.67x107° x1x(2100)* =1.1x10° W/ m?

P=1A=1.1x10°%x8x10"2=8821.65W

E=Pt=8821.65x 600=5.29x 10°J

1 (6) (w

1. h=—m = 6.6x10 *J.s

AK,, _ 1.6x10x(0.825-0)

Af (1.3-1.1)x10%

$=nhf, =6.6x10" x1.1x10" = 7.26x107°]

_hc _6.6x10°* x3x10°
hoten = f " 1000%107*°
Ephoton >¢

2. E =1.98x10 )

o eS UL e AN mlan (e lig Y ) paty A Jadll b (e ST L) (505800 26l
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: (7) (o
1. K, =0V, =16x10" x2=3.2x10" J
2. hf = +K__,
6.626x10 % xf =3.2x107"° +3.2x107"
&5 9.658 <10 HZ
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1. 1 = (i—izj =1.1x10’ (%—i)%i =4.85x107"m

A n? n? 42
—34 8
E oo = _hc_6.626x10 ><_:73><10  41x107° ]
A 4.85%10
Eooon =9 4.1x107*° —-1.68x107"
Ephoton = ¢+qu0 —)VO = : qe = 1.6X10_19
V, =151V
1 (9) (o
1. n=4
> > -34
L= = =42x10* —>n=2
27 27
r,=n’r = (4)2 x 0.529x 10 =8.464x10m
) nny 21 4 0.529 107° 1324 10®°m
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Eyn ={ Zxm, +Nxm_ )-M_}c

= {(1x1.0073+1x1.0087) - 2.0135} u x ¢

E,. = {0.0025};¢(><931.5M = 2.328MeV

A
Eyn ={ Zxm, +Nxm_)-M_}c?

= {(26x1.0073+30x1.0087)-55.9206 | u xc’

E,. = {0.5302}~)4(><931.5M = 493.88MeV
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